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I ’nmwn: Mmax ndw nar (2 owad brought on myaw with onYn 'nw) and mnwx:
a  [list: 715N ,71 ,9780 ,091IN ANaw ,mYyn ,mon
b 775377 Av’nw: on north side, MW 3 (except for combo of *93+1 for YI¥N DYR)
i Source (for may mb5won north): student to X171 — v. 1 compares nRON <->72x 'NHW; NAXI NRLN = AN ¥NHY
1 Challenge (»37): nRon is inferred from n%; this is a violation of Wp>na TA%MY NN 1R WP TAYN 12T
2 Rather (N¥27): v. 2 compares Ma¥ 'n%W directly to my
(a) Question: if so, what is purpose of wpnin v. 1?
(i) Answer: just as nRon is eaten by N3 M1, so too MaxX !MOHW only eaten by NN MdT
(if) Challenge (»an): if so, v. 3, which compares 11 N9y to 9’11 'n>w »R — only eaten by 0”13? (not true)
(iif) Defense: since v. 4 stipulates that the jn3 gets the y171 - rest goes to n’»ya
1. Challenge: perhaps y1t only eaten by n1n2 »21 (it is eaten by all n10n, including women etc.) X*wp
2. Possible answer: 11 is called ('n%) w7p, not WP VI
(iv) Question: why, then, is 11 nron compared to 11 MHY
1. Answer (x#37): if he shaved for any one of them (not just DnYw) — xRy
¢ op7 0o 2/4; eaten in Ny (“inside curtains”) by male 0103, in any form of preparation, for that day until midnight
I »mwn:n YR nmn (both DNdw) — Yp DWVTP
a  753p) av'ny: anywhere in the nary
b o7.n1nm2/4, eaten anywhere in 05w, by anyone, prepared in any fashion - for the day until midnight (132770)
¢ o ot the “tithe” given to mnd (P11 ntn) has same guidelines; eaten by B0, their wives, children and slaves
i Source (for p1wr Arnbeing eaten in 587w AN [ 025w177]): v. 6 — 1INV DIpn implies that it is between a place of all
o'RnY (outside the city) and a place where some n’Xno cannot go (7" NInn)
1 Challenge: perhaps it is between YR’ nann and nHw N> Mm% nnn (i.e. n’an In)
(a) Answerl (7ax): v. 5 stipulates v17p BIpN; v. 6 (which immediately follows) must be one “less”
(b) Answer2 (X¥37): v. 5 exclusive=> pw1 nn are fully out of city, then v. 6 returns it one step to 587w nann
(i) Challenge: why not say that it returned it to "> ninn?
1. Answer: it returns it one step
2. Challenge: if so, perhaps it should only be “pushed out” one step — then back one to n»an 1n
3. And: v. 7 disallows any of this to be eaten outside Y&1w> nann Rather: we accept »ar’s answer
OI 1 mwn: ppdw (0Op DWTP) - same as above, except eaten for 2 days (and night between); the “tithe” has same guidelines
a  Af7777x comparing vv. 8-10: 777 it allows for the entire n71y for »%p DWTP NVNY —1"p that the north is acceptable
i N”7 the poa comes to explicitly permit the north —
1 Reason: we would have excluded north, as the locus of 0'9p D*wTp was not permitted for w1p *w1p
(a) Perhaps: locus permitted for mwp *w1p might be “out of bounds” for D%y WP > "N HAr” allows all
(b) Analysis: p'n: 1 verse for itself (1”& nna), one to permit “sides”, other to block P18 18 — Ay is obvious
(i) «~77:1foritself, 1 to permit nay, 1 to permit 718 — PTIX 71% is obviously “out”
ii  Note: reason for “185” (#"nna”) — to disallow n'n%w slaughtered before doors open or while 2vn is “down”
b Notes: obvious that if the door is closed, as if locked (no n”® nna); what if the curtain is up? (a: implies “open”)
i Question: what if the door is blocked?
1 Answer: from special doors placed in ma’»nn n’a (on wings of 09IR) to make entire N7y “n”R Nna”
(a) Assumption: 8 high (not 20 high as customary) since they were blocked
(i) correction: that’s how high they were (unique height for wawa) - placed on angle to permit back
sides of Ny and: behind the p™1p permitted with little “915” (v. 11)
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